(@) T ¢ Pt A2

153 348 (FX) 0wl

2019 Gii) () (i) qF E
s femm | (i A e
a7 : @7 5oe 15 A7 ] _ [gurfes : 70 (M) o g el w5 e g
fBror - | | @) e sgerEEEs MW 9
O smer & 15 ez Tt @ yeT-vT wd % A Gi) e
- Ruifa &) L,(1,1.:1—;‘/H e smEamEEIe 19 9
() et YT Jﬁaf#ﬁf ) | (iv) 3‘1@'\‘5 aft | www.upboardonline.com
(iii) mmmﬁﬁg@m?@ﬁﬁ (%) X-amerm s o o 3
| @ YR % fows s

Gv) Y% T & RiRa 3% 373 aege Sifad 8 |

—— S

G X < fowwste w7
(iii) X @'Y TugEl & geaa Wi i

L Tdt Freeq g St Jer-gite 7 forflae - | o Gv) S T A
(%) Frefafaa § & 96 swtfie T € 2 1 | -
Qo SfR 2. (%) um= YO-HIY S o TEE
'ﬁﬂ - _ (@) ggg?DNA%ﬁﬂwﬁﬁq.mww
E::; jgmﬁ () g % Y AR o g |
- _ (F) @k I3 % 9 gen & ffie fvu smer =
348 (FX) _ 1 ) P.T.O. @T‘" % ? www.upboardonline.com

(5) ol Rrgm % g w1 for s
348 (FX) 2



(%) DNA ¥ fdi @ =ffwierg &

d413¢ | www.upboardonline.com 1+1=2
(@) ura faem % 3 enfoaes war fafge | 1+1=2
AR @vs w1 § 2§ e H pAE

©
o S 1+1=2
(7)) Uw qmE ¥ ool o3 § @E-iE s
o~ ShaufEt & %7 % s | 2
(¥) giwshifes St & 41 3w fafEd | 1+1=2
4. (%) wguwaar (cfeignd) w gt Sl 6
=TEAT Hif | 1 E? +1 EI =3
(@) I 1 & 7 38 HH-Y giEE FEftEa s
87 1+42=3
(m) _frfafea § siat wqe Hif - 1 1?1 15 =3
@) W e fe e @
(il) IRIAEF T S F9A
() fedl @i was vl & am fafEe R
e sfefeet & Jedrea o forar S R | 147471=3.
www.upboardonline.com -
5. (%) PrefaRas w dfiw foafiei il . 1147223
(i) RNA uiferss 2 2
(ii) DNA fers
348 (FX) 3 P.T.O.

(@) Prafefiaa § s e Hif . 1111,
2 2
S ) w0 aifeafas @ v e
=1 qrieeafs o
(i) $HET vd Sfiergy
() -ﬁaﬂaﬁﬂwrmaéw%?ﬂmqr 3
@’aﬁ[ﬁaﬁaﬁ?{a-ﬁ%ﬂﬁm?ﬁwawﬁﬁm%f 3
(%) S Pt % e bl o frmm
<" % 3ot ) R | PR
(@) Sasheifih § e
2 2 www.upboardonline.com 3
() i Fafehean &1 sweitfien 6 R iR L 3
(8) v s < R B | 5

uﬁ%mméaaﬂavhﬁﬁrquwg@
wH TR ?

4+I=5
AT
:ﬂqﬁ@rﬁuﬁzqﬁﬁammﬁa:a%ﬂéqi 243=5
Frffiaa 41 saren $ifm . 2l 01 _
(%) .o, DA
(@) TS DNA g
31T
et o dfig foaaforat . 1710 ¢
o foaftay . 1-+1-+2=5

(Tf“) IVF aofts www.upboardonline.com

(M) T IRIGE R

348 (FX) 4



9. fr=fafas & = $ifw
(%) i fem
(@) wyAFE ggaEa @ o e

HEET
(%) SASA 9eE
(@) <a-fafaga
{English Version)
Instructions :
(i) First 15 minutes

(ii) All questions are compulsory.

(iti)  Illustrate

your answers

diagrams wherever necessary.
(iv) Marks allotted to each question are given

against it.

with

2£-+2£=5
2 2

21215
2 B

are allotted for the
candidates to read the question paper.

labelled

1. Choose the correct option and write in your

answer-book : www.upboardonline.com

(a)

(b)

348 (FX)

Which of the following are asexual

structures ?

(i) Conidia

(i1) Buds

(iii) Gemmules

(iv)  All of the above
Chromosomes are formed by
(i) Euchromatin

(ii) Heterochromatin

(iii)  Both (i) and (ii)

(iv)  None of these

5

P.T.O.

(e)

(d)

2, (a)

(b)
(c)
(d)

(e)

(a)

(b)

(c)

(d)

(e)

348 (F
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“Bhopal Gas Tragedy” is related to

(1) CO; gas

(i1) NHj gas

(iiiy Methyl isocyanate gas

(iv)  All of the above

X-linked genes are found in

(1) Heterologous portion of
Y-chromosome

(ii)  Heterologous portion of
X-chromosome

(iii) Homologous portion of X and Y
chromosomes

(iv) Compound chromosomes

Draw the diagram of a normal

embryo-sac.

Which

enzyme participates in the

formation of DNA from DNA ?

Draw the labelled diagram of human
sperm.

www.upboardonline.com

What is the shape of pyramid of numbers
of a tree ?

Draw the diagram of chromosomes of

Turner syndrome.

Draw diagrams of any two nucleotides of
F+I=2

Write two molecular evidences of human

DNA.

evolution. www.upboardonline.com

What are Okazaki fragments ? Which

enzyme participates in their joining ? 1+71=2
Draw the sequence of organisms of a

food-chain of pond ecosystem. .

Write

two examples of transgemc

1+1=2

organisms.
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I+1=2
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4. (a)

(b)

(c)

(d)

5. (a)

(b)

(c)

(d)
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Explain  pleiotropy  and

inheritance.

What is menstrual cycle ? Which |
hormones control it ? 1+2=3

Differentiate between the

: 1 1
following : www.upboardonline.com 1 ';"rl > =3

(i) Male and female secondary sexual
characters

(ii) Asexual and sexual reproduction

Write the names of any three fungal
species which are used in the production
of antibiotics. 1+71+1=3

Write short notes on the following : I Li1los

2 2
(i) RNA polymerase
(ii)  DNA ligase
Differentiate between the
following : 1§+1§=3
(i) Ecosystems of Grassland and Pond

(ii)  Phenotype and Genotype

What is the meaning of biofortification ?

Explain. www.upboardonline.com 3

What is the utility of biotechnology in
agriculture ? ) 3
7 P.T.O.

(a)  Write the causal organisms angd
control measures of Dengue and

Chikungunya. 1 ! +7 ! =3
» - 9
(b)  What is the importance of cloning vectors 2
in biotechnology ? J
(¢} Discuss the utility of Gene therapy. 3
(d)  Discuss about tissue culture. ' 3
7. Describe .the male reproductive system of
humans. What is the chief function of testes 7 4+1=5
OR
Write an essay on population explosion and
control. wwyw upboardenline.com 243=5
8, Explain the following : 2 1 +2 I—=5
a
(a) PCR ’ i
(b)  Recombinant DNA technique
OR
Write short notes on the following : 1 z +] el +2=5
[y ]
2 2
(a)  Double fertilization
(b}  IVF technique
(¢}  Development of female gametophyte
Discuss the following ; 2l42lo5
(a) Hardy—Weinberg Law 2 2
(b) Bee linkage and Gene exchange
OR
(a) Ozone dEp]etiQn 2 .{ +2 i =5
2 2
(b)  Biodiversity www.upboardonline.com
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